VEVOR

Affordable. Reliable. Home Improvement.

BOX SPRINGS

MODEL:PB09-K
PB04-Q
PB05-Q
PB09-Q

Technical Support and E-Warranty Certificate
www.vevor.com/support



VEVOR BOX SPRINGS

Affordable. Reliable. Home Improvement.

MODEL:PB09-K; PB04-Q; PB05-Q; PB09-Q

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



SAFETY INSTRUCTIONS

WARNING:

WARNIND FOR YOUNG CHILDREN-This product contains small
components,please ensure that they are kept away from small
children while assembling.

NOTES:
1. Do not skip any step.
2. Do not fully tight screws until all the bed parts are assembled.

Thank you very much for choosing this Box Springs. Please read all of the

instructions before using it. The information will help you achieve the best
possible results.

SAVE THIS MANUAL



PARTS LIST

® [x32:3[® [x16+1|[© [x16+1][@® [ x1 |[® [ x1




(Dxipe

(2)x4pes

(@)x2pes

(Bix2pes

(Dxdpes

(Bxdpes

(@x1pc

{0x20pcs




ASSEMBLY STEP

23mm

35mm

23mm

MéEx10 4




x4@|x1®|x1

P [)] | x1

® |

x4((C) |

® ]




®|14©|x4@|x1®|x1

) | @) | x4{(D) | x |(E) |




x1

®

M4

M4

ME

M6

MEx25

MEx25

®l14®|x2@|x2@|x1

P P | @ | L |3

MEx10

® | @ | 2© | «©O | «[® | «

P e | & | L |2

MEx10




10




11

12

10



OK

11




PRODUCT PARAMETER

Model PB09-K

Safe Loading Weight < 3500lbs

Product Size 2010*1925*230mm
Model PB05-Q

Safe Loading Weight < 3500lbs

Product Size 2010*1515*130mm
Model PB04-Q

Safe Loading Weight <3500Ibs
Product Size 2010*1510*102mm
Model PB09-Q

Safe Loading Weight <3500Ibs
Product Size 2010*1515*230mm

12



javascript:;

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,
shanghai 200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD
NSW 2122 Australia

Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Place, Rancho Cucamonga, CA 91730

UK

REP

EC

REP

YH CONSULTING LIMITED. C/O YH Consulting
Limited Office 147, Centurion House, London
Road, Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
Mainzer Landstr.69,
60329 Frankfurt am Main.






Technical Support and E-Warranty Certificate
www.vevor.com/support



Machine Translated by Google

VEVOR

Affordable. Reliable. Home Improvement.

SOMMIERS

MODELE : PB09-K
PB04-Q
PB05-Q
PB09-Q

Assistance technique et certificat de garantie

électronique www.vevor.com/support



Machine Translated by Google

VEVOR <o

Affordable. Reliable. Home Improvement.

MODELE : PB09-K ; PB04-Q ; PB05-Q ; PB09-Q

Ceci est le mode d'emploi d'origine. Veuillez lire attentivement l'intégralité
du manuel avant utilisation. VEVOR se réserve le droit d'interpréter clairement ce
manuel d'utilisation. L'apparence du produit dépend du produit que vous avez

recu. Veuillez nous excuser pour les éventuelles mises a jour technologiques ou
logicielles.



Machine Translated by Google

CONSIGNES DE SECURITE

AVERTISSEMENT:

AVERTISSEMENT POUR LES JEUNES ENFANTS - Ce produit contient de petites
composants, veuillez vous assurer gqu'ils sont tenus a I'écart des petites

les enfants pendant I'assemblage.

REMARQUES :
1. Ne sautez aucune étape.

2. Ne serrez pas completement les vis tant que toutes les pieces du lit ne sont pas assemblées.
Merci d'avoir choisi ce sommier. Veuillez lire attentivement l'intégralité des instructions.

instructions avant de I'utiliser. Ces informations vous aideront a obtenir les meilleurs résultats

résultats possibles.

CONSERVEZ CE MANUEL



slated by Google

L ||

M4

M6

M6x25

® [s2+3][® [x16+1][© [x6+1|[®@ [ x1|[© [ x1

P || G

M6x10




Machine Translated by Google

(®Dx1pe (@x4pes @)x2pes
(@x2pes (®x2pcs (®)x2pes
Dxdpes (®x4pes ©@x1pc

@@x20pcs




Machine Translated by Google

ETAPE D'ASSEMBLAGE

23mm

35mm

23mm

M6x10




Machine Translated by Google

40 | x1[® | «

|® | x1

® |

x4{© I

® |

M6x25




Machine Translated by Google

® | MO | 4O [ «1|® | x«

@l x4©| x4@|x1®lx1




Machine Translated by Google

M4

M4

M6

M6

M6x25

| 2 | |2

M6x25

® | 4® [ ©[© | ©jO© | «[® | «

P P | 2 | |z

M6x10

® | «@ | 2¢[© | 2O | «1[® [ x

M6x10




10




Machine Translated by Google

—__

N

11

12

10



Machine Translated by Google

OK

11




Machine Translated by Google

PARAMETRE DU PRODUIT

Modéle PB09-K

Poids de chargement sécuritaire <35001Ib

Taille du produit 2010*1925*230mm
Modéle PB05-Q

Poids de chargement sécuritaire <35001Ib

Taille du produit 2010*1515*130mm
Modele PB04-Q

Poids de chargement sécuritaire <35001Ib

Taille du produit 2010*1510*102mm
Modéle PB09-Q

Poids de chargement sécuritaire <35001Ib

Taille du produit 2010*1515*230mm

12



javascript:;

Machine Translated by Google

Fabricant : Shanghaimuxinmuyeyouxiangongsi Adresse :

Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai 200000 CN.
Importé en Australie : SIHAO PTY LTD. 1 ROKEVA STREET, ASTWOOD NSW 2122,
Australie

Importé aux Etats-Unis : Sanven Technology Ltd. Suite 250, 9166 Anaheim Place,
Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED. A/S YH Consulting
Limited, bureau 147, Centurion House, London

Représentant du Royaume-Uni

Road, Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH

REPRESENTRANT DE LA CE Mainzer Landstr.69,
60329 Francfort-sur-le-Main.




Machine Translated by Google



Machine Translated by Google

Assistance technique et certificat de garantie
électronique www.vevor.com/support



Machine Translated by Google

VEVOR

Affordable. Reliable. Home Improvement.

BOXSPRINGS

MODELL:PB09-K
PB04-Q
PB05-Q
PB09-Q

Technischer Support und E-Garantie-Zertifikat
WWW.Vevor.com/support



Machine Translated by Google

VEVOR BOXSPRINGS

Affordable. Reliable. Home Improvement.

MODELL:PB09-K; PB04-Q; PB05-Q; PB09-Q

Dies ist die Originalanleitung. Bitte lesen Sie alle Anweisungen sorgfaltig

durch, bevor Sie das Gerét in Betrieb nehmen. VEVOR behélt sich das Recht vor,
die Bedienungsanleitung klar und deutlich zu interpretieren. Das Aussehen

des Produkts hangt vom gelieferten Produkt ab. Bitte haben Sie Verstandnis dafir,
dass wir Sie nicht erneut Uber Technologie- oder Software-Updates informieren.



Machine Translated by Google

SICHERHEITSHINWEISE

WARNUNG:

WARNUNG FUR KLEINKINDER - Dieses Produkt enthalt kleine
Komponenten, achten Sie bitte darauf, dass sie von kleinen

Kinder beim Zusammenbau.

HINWEISE:

1. Uberspringen Sie keinen Schritt.

2. Ziehen Sie die Schrauben erst dann vollstandig fest, wenn alle Bettteile zusammengebaut sind.
Vielen Dank, dass Sie sich fir diesen Boxspring entschieden haben. Bitte lesen Sie alle

Lesen Sie vor der Verwendung die Anweisungen. Die Informationen helfen lhnen, das Beste zu erreichen

maogliche Ergebnisse.

BEWAHREN SIE DIESES HANDBUCH AUF



Machine Translated by Google

TEILELISTE

® [32+3)|® [x16+1][© [x16+1]|©

M6x10 M6x25 M6 M4




Machine Translated by Google

(®Dx1pe (@x4pes @)x2pes
(@x2pes (®x2pcs (®)x2pes
Dxdpes (®x4pes ©@x1pc

@@x20pcs




Machine Translated by Google

MONTAGESTRITT

23mm

35mm

23mm

M6x10




Machine Translated by Google

40 | x1[® | «

|® | x1

® |

x4{© I

® |

M6x25




slated by Google

® | MO | 4O [ «1|® | x«

@lx4©|x4@lx1®lx1




Machine Translated by Google

M4

M4

M6

M6

M6x25

| 2 | |2

M6x25

® | 4® [ ©[© | ©jO© | «[® | «

P P | 2 | |z

M6x10

® | «@ | 2¢[© | 2O | «1[® [ x

M6x10




10




Machine Translated by Google

—__

N

11

12

10



Machine Translated by Google

OK

11




Machine Translated by Google

PRODUKTPARAMETER

Modell

PB09-K

Sicheres Ladegewicht

§3500 Pfund

Produktgrofle

2010*1925*230 mm

Modell

PB05-Q

Sicheres Ladegewicht

3500 Pfund

ProduktgréiRe

2010*1515*130 mm

Modell

PB04-Q

Sicheres Ladegewicht

§3500 Pfund

Produktgrofle

2010*1510*102 mm

Modell

PB09-Q

Sicheres Ladegewicht

Y3500 Pfund

Produktgrofle

2010*1515*230 mm

12



javascript:;

Machine Translated by Google

Hersteller: Shanghaimuxinmuyeyouxiangongsi Adresse:

Shuangchenglu 803nongl11hao1602A-1609shi, Baoshanqu, Shanghai 200000 CN.
Importiert nach AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australien

Importiert in die USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place,
Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED. C/O YH Consulting
Britischle Republif Limited, Biiro 147, Centurion House, London

Road, Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH

EG-Vertreter Mainzer Landstr.69,
60329 Frankfurt am Main.




Machine Translated by Google



Machine Translated by Google

Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support



Machine Translated by Google

VEVOR

Affordable. Reliable. Home Improvement.

MOLLE A BOX

MODELLO:PB09-K
PB04-Q
PB05-Q
PB09-Q

Supporto tecnico e certificato di garanzia

elettronica www.vevor.com/support



Machine Translated by Google

VEVOR MOLLE A BOX

Affordable. Reliable. Home Improvement.

MODELLO:PB09-K; PB04-Q; PB05-Q; PB09-Q

Questa € l'istruzione originale, si prega di leggere attentamente tutte le
istruzioni del manuale prima di utilizzare. VEVOR si riserva una chiara
interpretazione del nostro manuale utente. L'aspetto del prodotto sara

soggetto al prodotto ricevuto. Vi preghiamo di perdonarci se non vi informeremo
di nuovo se ci sono aggiornamenti tecnologici o software sul nostro prodotto.



Machine Translated by Google

ISTRUZIONI DI SICUREZZA

AVVERTIMENTO:

AVVERTENZA PER | BAMBINI PICCOLI - Questo prodotto contiene piccole
componenti, assicurarsi che siano tenuti lontani da piccoli

bambini durante I'assemblaggio.

NOTE:

1. Non saltare nessun passaggio.

2. Non serrare completamente le viti finché tutte le parti del letto non saranno assemblate.

Grazie mille per aver scelto questo Box Springs. Si prega di leggere tutte le
istruzioni prima di utilizzarlo. Le informazioni ti aiuteranno a ottenere il meglio

possibili risultati.

SALVA QUESTO MANUALE



slated by Google

L ||

M4

M6

M6x25

® [s2+3][® [x16+1][© [x6+1|[®@ [ x1|[© [ x1

P || G

M6x10




Machine Translated by Google

(®Dx1pe (@x4pes @)x2pes
(@x2pes (®x2pcs (®)x2pes
Dxdpes (®x4pes ©@x1pc

@@x20pcs




Machine Translated by Google

FASE DI MONTAGGIO

23mm

35mm

23mm

M6x10




Machine Translated by Google

40 | x1[® | «

|® | x1

® |

x4{© I

® |

M6x25




slated by Google

® | MO | 4O [ «1|® | x«

@lx4©|x4@lx1®lx1




Machine Translated by Google

M4

M4

M6

M6

M6x25

| 2 | |2

M6x25

® | 4® [ ©[© | ©jO© | «[® | «

P P | 2 | |z

M6x10

® | «@ | 2¢[© | 2O | «1[® [ x

M6x10




10




Machine Translated by Google

—__

N

11

12

10



Machine Translated by Google

OK

11




Machine Translated by Google

PARAMETRO PRODOTTO

Modello PB09-K

Peso di carico sicuro y¥3500 libbre
Dimensioni del prodotto 2010*1925*230mm
Modello PB05-Q

Peso di carico sicuro ¥3500 libbre
Dimensioni del prodotto 2010*1515*130mm
Modello PB04-Q

Peso di carico sicuro Y3500 libbre
Dimensioni del prodotto 2010*1510*102mm
Modello PB09-Q

Peso di carico sicuro Y3500 libbre
Dimensioni del prodotto 2010*1515*230mm

12



javascript:;

Machine Translated by Google

Produttore: Shanghaimuxinmuyeyouxiangongsi Indirizzo:
Shuangchenglu 803nongl11hao1602A-1609shi, baoshanqu, shanghai 200000 CN.

Importato in AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia

Importato negli USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place,
Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED. C/O YH Consulting
RAPPRESENTANIA DEL REGNO UNITO Limited Ufficio 147, Centurion House, London

Road, Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH

Rappresentaijte della CE V|a Magonza 69,

60329 Francoforte sul Meno.




Machine Translated by Google



Machine Translated by Google

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support



Machine Translated by Google

VEVOR

Affordable. Reliable. Home Improvement.

SOFAS
MODELO:PB09-K
PB04-Q
PB05-Q
PB09-Q

Soporte técnico y certificado de garantia

electrénica www.vevor.com/support



Machine Translated by Google

VEVOR ..

Affordable. Reliable. Home Improvement.

MODELO: PB09-K; PB04-Q; PB05-Q; PB09-Q

Estas son las instrucciones originales; lea atentamente todas las

instrucciones del manual antes de utilizarlo. VEVOR se reserva el derecho de
interpretar su manual de usuario. La apariencia del producto dependera

del producto que haya recibido. Le rogamos que nos disculpe si no le informamos
de nuevo si hay actualizaciones tecnolégicas o de software en nuestro producto.



Machine Translated by Google

INSTRUCCIONES DE SEGURIDAD

ADVERTENCIA:

ADVERTENCIA PARA NINOS PEQUENOS: Este producto contiene pequefias
componentes, asegurese de mantenerlos alejados de los pequefios
Nifios durante el montaje.

NOTAS:
1. No omita ningun paso.

2. No apriete completamente los tornillos hasta que todas las piezas de la cama estén ensambladas.
Muchas gracias por elegir este Box Springs. Por favor, lea toda la informacion.

Instrucciones antes de usarlo. La informacion le ayudara a lograr el mejor resultado.
posibles resultados.

GUARDE ESTE MANUAL



Machine Translated by Google

LISTA DE PIEZAS

® [32+3)|® [x16+1][© [x16+1]|©

M6x10 M6x25 M6 M4




Machine Translated by Google

(®Dx1pe (@x4pes @)x2pes
(@x2pes (®x2pcs (®)x2pes
Dxdpes (®x4pes ©@x1pc

@@x20pcs




Machine Translated by Google

PASO DE MONTAJE

23mm

35mm

23mm

M6x10




Machine Translated by Google

40 | x1[® | «

|® | x1

® |

x4{© I

® |

M6x25




Machine Translated by Google

® | MO | 4O [ «1|® | x«

@l x4©| x4@|x1®lx1




Machine Translated by Google

M4

M4

M6

M6

M6x25

| 2 | |2

M6x25

® | 4® [ ©[© | ©jO© | «[® | «

P P | 2 | |z

M6x10

® | «@ | 2¢[© | 2O | «1[® [ x

M6x10




10




Machine Translated by Google

—__

N

11

12

10



Machine Translated by Google

OK

11




Machine Translated by Google

PARAMETRO DEL PRODUCTO

Modelo

PB09-K

Peso de carga seguro

<3500 libras

Tamafio del producto

2010%1925*230 mm

Modelo

PB05-Q

Peso de carga seguro

<3500 libras

Tamafo del producto

20101515130 mm

Modelo

PB04-Q

Peso de carga seguro

<3500 libras

Tamafo del producto

20101510102 mm

Modelo

PB09-Q

Peso de carga seguro

<3500 libras

Tamafio del producto

2010%1515*230 mm

12



javascript:;

Machine Translated by Google

Fabricante: Shanghaimuxinmuyeyouxiangongsi Direccion:

Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai 200000 CN.

Importado a AUS: SIHAO PTY LTD. 1 ROKEVA STREET, EASTWOOD, NSW 2122,
Australia

Importado a EE. UU.: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place,
Rancho Cucamonga, CA 91730

YH CONSULTING LIMITADA. A/C YH Consulting
REPRESENTANT DEL REINO UNIDO Limited Oficina 147, Centurion House, London

Road, Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH

Representanfe del CE Mainzer Landstr.69,
60329 Francfort del Meno.




Machine Translated by Google



Machine Translated by Google

Soporte técnico y certificado de garantia
electronica www.vevor.com/support



Machine Translated by Google

VEVOR

Affordable. Reliable. Home Improvement.

SPREZYNY SKRZYNKOWE

MODEL:PB09-K
PB04-Q
PB05-Q
PB09-Q

Wsparcie techniczne i certyfikat gwarancji

elektronicznej www.vevor.com/support



Machine Translated by Google

VEVOR

Affordable. Reliable. Home Improvement.

SPREZYNY SKRZYNKOWE

MODEL:PB09-K; PB04-Q; PB05-Q; PB09-Q

To jest oryginalna instrukcja, przed uzyciem nalezy uwaznie przeczytaé

wszystkie instrukcje. VEVOR zastrzega sobie jasng interpretacje naszej instrukg;ji
obstugi. Wyglad produktu bedzie zalezat od produktu, ktéry otrzymates.

Prosimy o wybaczenie, ze nie poinformujemy Cie ponownie, jesli w naszym
produkcie pojawig sie jakiekolwiek aktualizacje technologiczne lub oprogramowania.



Machine Translated by Google

INSTRUKCJE BEZPIECZENSTWA

OSTRZEZENIE:
OSTRZEZENIE DLA MALYCH DZIECI: Produkt zawiera mate

komponenty, prosze upewnic sie, ze sg przechowywane z dala od matych

dzieci podczas montazu.

UWAGI:
1. Nie pomijaj zadnego kroku.

2. Nie dokrecaj $rub do konhca, dopdki wszystkie czesci tézka nie zostang zmontowane.
Dziekujemy bardzo za wybranie tego Box Springs. Przeczytaj prosze wszystkie

przed uzyciem zapoznaj sie z instrukcjg. Informacje te pomogg Ci osiggna¢ najlepszy efekt
mozliwe wyniki.

ZAPISZ TE INSTRUKCJE



slated by Google

LISTA CZESCI

L ||

M4

M6

M6x25

® [s2+3][® [x16+1][© [x6+1|[®@ [ x1|[© [ x1

P || G

M6x10




Machine Translated by Google

(®Dx1pe (@x4pes @)x2pes
(@x2pes (®x2pcs (®)x2pes
Dxdpes (®x4pes ©@x1pc

@@x20pcs




Machine Translated by Google

KROK MONTAZU

23mm

35mm

23mm

M6x10




Machine Translated by Google

40 | x1[® | «

|® | x1

® |

x4{© I

® |

M6x25




Machine Translated by Google

® | MO | 4O [ «1|® | x«

@l x4©| x4@|x1®lx1




Machine Translated by Google

M4

M4

M6

M6

M6x25

| 2 | |2

M6x25

® | 4® [ ©[© | ©jO© | «[® | «

P P | 2 | |z

M6x10

® | «@ | 2¢[© | 2O | «1[® [ x

M6x10




10




Machine Translated by Google

—__

N

11

12

10



Machine Translated by Google

OK

11




Machine Translated by Google

PARAMETR PRODUKTU

Model

PB09-K

Bezpieczna waga zatadunkowa

3500 funtéw

Rozmiar produktu

Wymiary: 2010*¥1925%230 mm

Model

PB05-Q

Bezpieczna waga zatadunkowa

3500 funtéw

Rozmiar produktu

Wymiary: 2010*1515*130 mm

Model

PB04-Q

Bezpieczna waga zatadunkowa

3500 funtéw

Rozmiar produktu

Wymiary: 2010*¥1510*102mm

Model

PB09-Q

Bezpieczna waga zatadunkowa

3500 funtéw

Rozmiar produktu

Wymiary: 2010*1515%230 mm

12



javascript:;

Machine Translated by Google

Producent: Shanghaimuxinmuyeyouxiangongsi Adres:

Shuangchenglu 803nong11hao1602A-1609shi, Baoshanqu, Szanghaj 200000 CN.
Importowane do AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122 Australia

Importowane do USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho
Cucamonga, CA 91730

YH CONSULTING LIMITED. C/O YH Consulting Limited

REP WIELHIE] BRYTANII Biuro 147, Centurion House, London Road, Staines-

upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH

Przedstawciel UE Mainzer Landstr.69,

60329 Frankfurt nad Menem.




Machine Translated by Google



Machine Translated by Google

Wsparcie techniczne i certyfikat gwarancji
elektronicznej www.vevor.com/support



Machine Translated by Google

VEVOR

Affordable. Reliable. Home Improvement.

BOXSPRING

MODEL:PB09-K
PB04-Q
PB05-Q
PB09-Q

Technische ondersteuning en e-garantiecertificaat

WWW.vevor.com/support



Machine Translated by Google

VEVOR BOXSPRING

Affordable. Reliable. Home Improvement.

MODEL: PB09-K; PB04-Q; PB05-Q; PB09-Q

Dit is de originele instructie, lees alle handleidingen zorgvuldig door

voordat u het product gebruikt. VEVOR behoudt zich een duidelijke interpretatie

van onze gebruikershandleiding voor. Het uiterlijk van het product is

afhankelijk van het product dat u hebt ontvangen. Vergeef ons dat we u niet

opnieuw zullen informeren als er technologie- of software-updates voor ons product zijn.



Machine Translated by Google

VEILIGHEIDSINSTRUCTIES

WAARSCHUWING:

WAARSCHUWING VOOR JONGE KINDEREN - Dit product bevat kleine
componenten, zorg ervoor dat ze uit de buurt van kleine

kinderen tijdens het monteren.

OPMERKINGEN:

1. Sla geen enkele stap over.

2. Draai de schroeven pas helemaal vast als alle onderdelen van het bed zijn gemonteerd.
Hartelijk dank voor het kiezen van deze Box Springs. Lees alle

instructies voordat u het gebruikt. De informatie zal u helpen om het beste te bereiken

mogelijke resultaten.

BEWAAR DEZE HANDLEIDING



slated by Google

L ||

M4

M6

M6x25

® [s2+3][® [x16+1][© [x6+1|[®@ [ x1|[© [ x1

P || G

M6x10




Machine Translated by Google

(®Dx1pe (@x4pes @)x2pes
(@x2pes (®x2pcs (®)x2pes
Dxdpes (®x4pes ©@x1pc

@@x20pcs




Machine Translated by Google

MONTAGESTAP

23mm

35mm

23mm

M6x10




Machine Translated by Google

40 | x1[® | «

|® | x1

® |

x4{© I

® |

M6x25




slated by Google

® | MO | 4O [ «1|® | x«

@lx4©|x4@lx1®lx1




Machine Translated by Google

M4

M4

M6

M6

M6x25

| 2 | |2

M6x25

® | 4® [ ©[© | ©jO© | «[® | «

P P | 2 | |z

M6x10

® | «@ | 2¢[© | 2O | «1[® [ x

M6x10




10




Machine Translated by Google

—__

N

11

12

10



Machine Translated by Google

OK

11




Machine Translated by Google

PRODUCTPARAMETER

Model PB09-K

Veilig laadgewicht ¥3500 pond
Productgrootte 2010*1925*230mm
Model PB05-Q

Veilig laadgewicht y3500 pond
Productgrootte 2010*1515*130mm
Model PB04-Q

Veilig laadgewicht y3500 pond
Productgrootte 2010*1510*102mm
Model PB09-Q

Veilig laadgewicht y3500 pond
Productgrootte 2010*1515*230mm

12



javascript:;

Machine Translated by Google

Fabrikant: Shanghaimuxinmuyeyouxiangongsi Adres:

Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai 200000 CN.
Geimporteerd naar AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW
2122 Australié

Geimporteerd naar de VS: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place,
Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED. C/O YH Consulting
VK REP Limited Kantoor 147, Centurion House, London

Road, Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH

EC_ IQEP Mainzer Landstr.69,

60329 Frankfurt am Main.




Machine Translated by Google



Machine Translated by Google

Technische ondersteuning en e-
garantiecertificaat www.vevor.com/support



Machine Translated by Google

VEVOR

Affordable. Reliable. Home Improvement.

LADA FJADRAR

MODELL: PB09-K
PB04-Q
PB05-Q
PB09-Q

Teknisk support och e-garanticertifikat
WWW.vevor.com/support



Machine Translated by Google

VEVOR ..o

Affordable. Reliable. Home Improvement.

MODELL:PB09-K; PB04-Q; PB05-Q; PB09-Q

Detta ar den ursprungliga instruktionen, las alla instruktioner

noggrant innan du anvander den. VEVOR reserverar sig for en tydlig
tolkning av var anvandarmanual. Utseendet pa produkten ar beroende

av den produkt du fatt. Ursékta oss att vi inte kommer att informera dig igen
om det finns ndgon teknik eller mjukvaruuppdateringar pa var produkt.



Machine Translated by Google

SAKERHETSINSTRUKTIONER

VARNING:
VARNING FOR SMA BARN-Denna produkt innehéller sma

komponenter, se till att de halls borta fran sméa

barn under monteringen.

ANMARKNINGAR:

1. Hoppa inte 6ver nagot steg.

2. Dra inte &t skruvarna helt férran alla sangdelar &r monterade.
Tack sa mycket for att du valde denna Box Springs. Vanligen las alla

instruktioner innan du anvander den. Informationen hjalper dig att uppna det basta
mojliga resultat.

SPARA DENNA MANUAL



Machine Translated by Google

DELLISTA

® [e2+3[[® [x16+1][© [x16+1][@ | x1||© | «x
o |G | 2 | ||z
M6x10 M6x25 M6 M4




Machine Translated by Google

(®Dx1pe (@x4pes @)x2pes
(@x2pes (®x2pcs (®)x2pes
Dxdpes (®x4pes ©@x1pc

@@x20pcs




Machine Translated by Google

MONTERINGSTEG

23mm

35mm

23mm

M6x10




Machine Translated by Google

40 | x1[® | «

|® | x1

® |

x4{© I

® |

M6x25




slated by Google

® | MO | 4O [ «1|® | x«

@lx4©|x4@lx1®lx1




Machine Translated by Google

M4

M4

M6

M6

M6x25

| 2 | |2

M6x25

® | 4® [ ©[© | ©jO© | «[® | «

P P | 2 | |z

M6x10

® | «@ | 2¢[© | 2O | «1[® [ x

M6x10




10




Machine Translated by Google

—__

N

11

12

10



Machine Translated by Google

OK

11




Machine Translated by Google

PRODUKTPARAMETER

Modell PB09-K

Saker lastvikt y3500lbs
Produktstorlek 2010*1925*230mm
Modell PB05-Q

Saker lastvikt y3500lbs
Produktstorlek 2010*1515*130mm
Modell PB04-Q

Saker lastvikt y3500lbs
Produktstorlek 2010*1510*102mm
Modell PB09-Q

Saker lastvikt y3500lbs
Produktstorlek 2010*1515*230mm

12



javascript:;

Machine Translated by Google

Tillverkare: Shanghaimuxinmuyeyouxiangongsi Adress:

Shuangchenglu 803nongl11hao1602A-1609shi, baoshanqu, shanghai 200000 CN.
Importerad till AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australien

Importerad till USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place,
Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED. C/O YH Consulting
UK QEP Limited Office 147, Centurion House, London

Road, Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH

EC R E P Mainzer Landstr.69,

60329 Frankfurt am Main.




Machine Translated by Google



Machine Translated by Google

Teknisk support och e-garanticertifikat
www.vevor.com/support



